T

do / dp_ [ub/(GeV!/ic)]
|_\
o

Ratio to LHCB

=
o
w

10

0.5

7000 GeV pp

Soft QCD

T I
- pT (D" (y-4.0-4.5) =
- m  LHCB )
— --©-- Pythia 6.428 390 )

--81-- Pythia 6.428 391
— --©-- Pythia 6.428 392 E
— - Pythia 628 396 -
u é"'ﬁy’th'ua6428391\<> -
k3 Pyth|a6428 398 \@%;;j\.\ i
= \.QZ:;;§2\~

:_ Peonmmmmmnen ¥..‘~ .::s:;'..:\.\ _:
- e - \\&:\1\\ ]
- e ]

\:i\;:a.#\_ [ |
- T N

i‘*lz\

e 5
E - - /,/'/ :E]/ E
— O mme 7 T E
- G- o - :.’:8:" .
- "‘-~--.:j8,-’ - ]
- s
B 2% S
s N
| o B
I ,, E /// |

P, [GeV!/Ic]

Rivet 3.1.10, = 2.5M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


